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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. el SeEued 319 U9 O I) AMHih 3 TaRd: o |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. |t YT T F A B

All the questions are compulsory.

3. U WY H IR A TE ITR-YRAH H & o |

Write the answer to each question in the given answer-book

only.
4, S Y H A {6 GUE §, 37 G % I Tk 91 & g |

For questions having more than one part the answers to those

parts are to be written together in continuity.
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5. WH UF % Bl F IS ®URR W HA YER @ JT / IR /
UL §H W &= 99T & 9T i TEl A |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi

version should be treated valid.

6. Hug YT | 3F TA® T
A 1-13 1
C 14-24 2
q 25-27 3
T 28-30 4
Section Q. Nos. Marks per
question
A 1-13 1
B 14-24 2
C 25-27 3
D 28-30 4

7. WW24,27,28,29330'§3TFTW THT |

Question Nos. 24, 27, 28, 29 and 30 have internal choices.

qug - A

SECTION - A

1. ST URW § YUTA St G Ol T Bl § 2

What is the ploidy of endosperm in angiosperms ? 1
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10.

11.

T W A GG e ?

What is colostrum ? 1

ey T2 §RT T a9 d o Fgid 1 A1 AT |

Write the name of the Theory of Inheritance given by Walter Sutton. 1

I AT HY Fed & 2

What are mutagens ? 1

ST ghy qdT THTT Igh Y R H 3R ERIERN

Differentiate between Dryopithecus and Ramapithecus primates. 1

I AT T AT AT S 3 B @ H TG B 3§

Write the name of bacteria which converts milk to curd. 1
3T S R AT AT |
Write the full form of BOD. 1

Qa2 U1EY ST THOT T qF UEAT & TS Fordd 9 g1 & 2

Pomato plant is formed by the protoplast fusion of which two plants ?

1

8RS T & T STTFT I FT Hed &, T4 Tg- o 31 Y =T Sl I T&H
W EUAT T AT o $AT i Teh ST YT STl € 2

What is the name of the sequence of base pairs which reads same on

the two strands of DNA when orientation of reading is kept same ? 1

39 A T A AS A AT STEY Bt Sid g9 AHdT 86§ |

Write the scientific name of the bacteria that produces Bt toxin. 1

THedT o &F | e Ui 7Teh! ol Ueh 30T ey |

Give one use of biotechnology in the field of medicine. 1
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12.

13.

14.

15.

16.

17.

4

TTERYT TR S | TS el Ush HUNTE aared |

Write one harmful effect of deforestation on environment. 1

T A el H SO T {adeh ol ST &1 hdl Sl & 2

Why are catalytic converters used in automobiles ? 1

Tqug - &

SECTION - B
3TUSYSTh I qoi H HSiavsteh WU & 919] Sl IAsH aal & GITaaR F=t
¢ S0 ¢ ? HRUT &d T 5 |

Why are the chances of survival of young ones of viviparous animals

greater than oviparous animals ? Explain with reasons. 1+1

A | IR o I9Ed & ol o T ST bl W) ST =218 & A
SO

Give the names of four reproductive events that occur after puberty in

human beings. 4x = =2

I Y5 AGeRl I GIT T Hedsh AT TE i IEHAEE Dl ST ol ST
¥, A SRR W T TS T ?

If the doctor forgets to tie vas deferens of right side during vasectomy,

then what will be the effect on sterilisation ? 2

I3 DNA % Ueh T5o]F 1 SHH THER &

5' — AAGTTACTAGAC - 3'
d TH YR W T a! m-RNA % STFH A& |

If the sequence of one strand of DNA is as follows
5 — AAGTTACTAGAC - 3’

then write the sequence of m-RNA formed on this basis. 2
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18.

19.

20.

21.

22.

23.

24.

5

3TS 915 T T & 2 BTSl-aenT A=l sl Yo7 o i aTet hig AR Heh
AEH |

What is genetic equilibrium ? Write any four factors affecting Hardy-

1
Weinberg equilibrium. 4 x 2 =2

HVIT UF I T GeTsTal o SUANT hl SIER0T & THE |

Explain with examples the uses of microbes in production of fermented

beverages. 1+1=2
S B TERE S T SHATST S HET F FHE |
Explain in brief the processes of Dairy farm management. 2

HYHE AT h AT ST T WISk TYOA AT ST A AT TAG T 2

If diabetic patients are given unprocessed pro-insulin, then what will

be its effect ? 2
TRTEIOT AT ST ol § 3 T &t 5T |

Explain the difference between predation and parasitism. 1+1=2

FHO T T U & T & FeA-9g o U Telgd WehAl bl T i 57 |

Explain four basic processes due to fluctuation in density of a

population in a given habitat. 4 x % =2
e 9 FEAT i & T o HIS g HRON Hl WL A1 51 |
g
I W SR TRl W WA H 3R WL 5 |
Explain any two reasons of biodiversity loss. 1+1=2

OR

Differentiate between In-situ conservation and Ex-situ conservation.

1+1=2
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25.

26.

27.

28.

6
Tqueg - |
SECTION - C
RAT-GAhER GHUT (TRETTF 5AT) S IR & GHee |

Describe pollen-pistil interaction in detail. 3

AEE B foTT- TUROT R SFAT 9 A |
Explain the mechanism of sex-determination in humans. 3
AT TR T 7 THH! H IO e |
SIBE])
S T | gHiaet T ZgEit 9Ud % i aHEed |
What is bioreactor ? Explain its functioning. 1+2=3
OR

Explain the use of Agrobacterium tumifaciens in gene cloning. 3

ug - §
SECTION - D

3TFE 91 S T & ? STl AR I9Nad AGH | -RNA HT o S13 |

3T
A ST 9 ASHT 91 § 2 996 ST TS i S9edd. o T3 | 3
S 9 TGS T 760 3R & 91 |

What is genetic code ? Write its four salient features. Draw a diagram

of t-RNA. 1+2+1=4
OR

What is Human Genome project ? Write the salient features of Human
genome project. Draw a representative diagram of Human genome

project. 1+2+1=4

SS—42—Bio. SS-5542



29.

30.

7

YT IO T UAF T T AT S |

TS IS 1 QU A o G | THHT GHAV Y BT & 2 A IRR H USH
% AV ol THEE |

3797l

ZITHISE o UTSTIeh hl AT &1 ST | ol T ISl o Sita-<sh Sl ATH1 shl =
T TEET 9 9Heed |

Draw a diagram of replication of retrovirus. Write the full name of
AIDS pathogen. How is it transmitted ? Explain the symptoms of AIDS

in human beings. 1+1+1+1=4
OR

Write the name of pathogen of typhoid. Explain the life cycle of
malarial parasite with the help of labelled diagram. 1+2+1=4

AT | FA TOE T HT G ¢ 2 A A AT TR OH W A gY oAl
S8 i THSLY | Ueh @ §@ell &7 3@ =7 12 |

el

MIRTTH WHS T 2T F1 G & ? 99 95 § SoHE WAS H auA
o I TEA F HI S|

What do you understand by energy flow in an ecosystem ? Explain
energy flow through different trophic levels. Draw line diagram of a

food chain. 1+2+1=4
OR

What do you understand by ecological pyramid ? Explain pyramid of

biomass in a grassland with the help of a diagram. 1+2+1=4
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